] . . -
Q:}:)?f:sz:&:izits; sos]?;\;y ;)}f; ;tz ;tr:[:loyees to dclcrm-ine their level of satisfaction
ollected from this survey are:
a. secondary data,
b. experimental data,
@ primary data,
d. census data,

e. observational data

2. When a survey uses the responses strongly disagree, disagree, neutral, agree, strongly
agree, this is an example of:

a. nominal data.
@ ordinal data.
¢. interval data.

d. ratio data.

e. time series data

3. Recently a study of fans attending the New York Mets baseball games was cond}Jcted and
' 500 fans were surveyed. In forming a frequency distribution of the number of miles far_ls
traveled from home to the stadium, it was found that 247 fans traveled between 0 and 3

. : 9
iles. Based on this information what was the relative frequency for this class?
miles.

0.247 P Zf] = 0 47%

a.
b. 0.30 /§‘¢9©
c. 0.738

@ 0.494 | |
e. can't be determined without more information.
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4. Oneof
. the key differe
y differences between 3 bar chart and hi
ar chart and histogram is:

a. the hi ¢ i
¢ histogram contains 2aps betwee

n the bars and the bar chart does not.

b. the hist
. ogram shows relati
§ s relative fre
¢. the bar chart lative frequency while the bar chart shows frequency
. ¢ mus . . B ey
t be vertical while the histogram must be horizontal

a bar chart is :
used to dis :
play a numerical variable and a histogram is used to display the

distribution of a qualitative variable

e.) abarchart is us s
s used to display a ¢z . .
O display a categorical variable and a histogram is used to display the

distribution of a quantitative variable

] . D) |

There is no difference.

s}

b. The histogram shows the shape center and spread of the distribution while the stem and

leaf does not.

c. The stem and leaf diagram shows less information than a histogram.

d. From the histogram the actual data can be retrieved.

@ The stem and leaf diagram shows more information by showing the individual values.

they sell in Seattle is bell-

f all homes are on the market

6. The number of days that homes stay o the market before
eviation for the

shaped with a mean equal to 8 days. Further, 95 percent 0
between 2 and 14 days. Based on this information, whatis the standard d

number of days that houses stay on the market in Seattle?

a. 12
RS SR & ara sy '8
@:0 oy /Z(/}gs,"l :';)é’;)’cgf-) :;5-:\3
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7. The asking pri
g price for h
$286.455 and a Standa??:;s 2n !he real estate market in Baltimore has a me
eviation of $11,200. Four homes ar¢ listed by one re

Home 1; $456 . 9. Q1
900 Home 2: $306,000 Home 3: $266,910 Home 4: $201,456

Based upon this i ;
S i . 1s
p Wformation, which house has a standardized value that is rel

zero?
a. Homel X = ){g’)—os'} g”
b. Home 2 -
/c'.\ Home 2 and home 3 C/ '/2, ég éoﬁ f/
d. Home3 } g /

e

e
7 =X1

8.

o 0 o

®

c /Wi
ompany with the following prices:

Home 1 and home 3

/QM/%%

2

portfolio A of a col

lection of stocks is considered more risky th

portfolio A has a higher coefTicient of vari
portfolio Ahasah
portfolio A has a hig!
portfolio A has a higl

igher mean than portfolio B.
Jer variance than portfolio B

Jer standard deviation.

portfolio A has a higher median than portfolio B.

ouldlieu will udl o

fox 2 Z 2

el = Z~* 400

ation than portfolio B.

an value of
al estate

atively closest to

P—

=d

@»Nll’

an portfolio B if:



9. The Jack In Tl
e Box franchise i
chise in Bangor, Maine, has determined that the chance a

customer will order i

a <1 T
hamburger is 0.60. Thsc':()ﬂrdl;";:T i B odor feach eoso.m
heeburger s 0.60 deter}; 0 nd ility .lhut a customer will order french fries is 0.50- The
customer will also order l]rl:::Z - tlgns:]fa customer orders a hamburger, the probability the
: s is 0.80. i ili !
include a hamburger and fries rsmRGESREREEE peortr

2. 045 /J(’S)f Fo) />C//); , 60) /D(F):»E/

b. 0.58
c. 0.68

o p(FH)=¥ W
p(17)= P PP
s 4xB =Y

ketball team at West Texas State University has 10 players; 5 are seniors,
ers are randomly selected to serve as

d 3 are sophomores. Two play
e. What is the probability that both players selected are seniors?

10. The college bas
2 are juniors, an
captains for the next gam

e S ((
c. 0.0 p) o = ﬁ :;@,)/Z
d. 0.66 / -
e. 042 | / O If‘g
(%

o

oudilieu witl udl ol



11. The URS construct;
London and the ot;:::tgol;:};i;")' has submitted two bids, one to build a large hotel in
company believes it has a 4‘00/‘1 commercial office building in New York City. The
winning the office building bi; C%a"‘ie of winning the hotl bid and 5% chanee O
g bid. The company also believes that winning the hotel bid is

independent of winnj
' winning the office building bi i
independentof wiing e building bid. What is the probability the company will

(())ji /D(//)S“’é’) P(O);‘L(

L p (o ) pH)HC y—p(HN)

— 4_7‘-¢)__,_g// . (/’X' L{f— "j(g/

tdoor yard lights has four suppliers. This past season she purchased
40% of the lights from Franklin Lighting, 30% from Wilson & Sons, 20% from
Evergreen Supply, and the rest from A. L. Scott. [n prior years, 3% of Franklin's lights
were defective, 6% of the Wilson lights were defective, 2% of Evergreen's were
defective, and 8% of the Scott lights were defective. When the lights arrive at the
distributor, she puts them in inventory without identifying the supplier. Suppose¢ that a
defective light string has been pulled from inventory; what is the probability that it was

supplied by Franklin Lighting? ‘ ;
/!'n 9 BJ— h) [N///fﬂ)')

a. 0.33 Lel Bi: /LJMK
— o ) ‘5 Z/ By QC? #’

12. A distributor of ou

oldlilnicu vill udll IS(



13. The number of
mber of cars sold (x) ina d ey . .
probability distribution in the foll:\)\,/iz::gs:bl:g s Auto Sale s desribel e

X 0 ]
X [
P(X) 0. = > ! 2
18 0.39 0.24 014|004 |00
]
]

Compute the vari
p ariance and standard deviation of the number of cars sold.

@ Variance=1.25, standard deviation=1.118 2 )/
S =p(¢7) — 7t
( ~

b. Variance=1.86, standard deviation=1.364
¢. Variance=2.25, standard deviation=1.50 3= >

. ’/ ’ 'I
d. Variance=1.118, standard deviation=1.057 = 31t5 -y é"S) 7/ L‘&

c. \”ariancc=l.50. standard deviation=1.225
i Zx P 5z fj28 = 1
g =)=

n Company is getting ready to leave fo
for oil. One piece of equipment requires 10 batteries that must operate for more than 2
hours. The batteries being used have a 15 percent chance of failing within 2 hours. The
exploration Jeader plans 10 take 12 batteries. The probability that the supply of batteries

will contain enough good ones 10 operate the cquipment is:
a. 0.2642 f)/) = ek ) /)' — ‘3\(\.
rr) - )C,

() 07358 -
c,' 0.0132 /)(XZ/O) — ?é(;z)/ﬁc[/’ﬁ)

= 7388

14. The Vardon Exploratio r South America t0 explore

oldlilnicu vill udll IS(



15. The mean numb
er of err
a large company is thou Ol:f 1p e; Y de by a member of the word processing pool for
Poisson distribution. [ft%l reeO ¢ 1.5 with the number of errors distributed according t0 @
errors will be observed? pages are examined, what is the probability that more than 3

Qur A=rSpe 1S

sz OB - pOES)

.. 05763 = =& L A
= |- S0 &

= /= 323 €77

are domestic and 4 are located
luation is conducted for 4
performance evaluation will

anufacturing plants. Of these, 7
Each year a performance eva
What is the probability that 2
ited States?

16. A corporation has Il m
outside the United States.
randomly selected plants.
contain 3 plants from the Un

0.3776 /\{59//) 777:[/)/(:7

:l: 0.3523
c. 0.4696 . ’7
Lo PUXY= (3) G //3)/(/4 J

= /[/O —p- yriL

oldlilnicu vill udll IS(



17. Students who have completed
normally distributed with a : Speed_n‘ading course have reading speeds thatare
to 220 words per minute. B me;m of 9.:0 words per minute and 2 standard deviation equal
reading at more than Hd ased on this information, what is the probability of a student
0 words per minute after finishing the course?

a. 0.3207

rom [ (X> /42

@0.0202 - - 5,2

e. 0.8372
= ./" /%Z = 2. (557
= - 77 0202

s students were normally distributed with a mean

the grades of hi
ent of the students received

ation of 11.63. If only 10 perc
um score needed to receive an A+?

18. A professor noted that
of 75.07 and a standard devi
grades of A+ what is the minim

X x) =
2 e
%;5’ 2= ﬁ'(%g}
2 X;7§o77u//,c,@’(”/, 2¥)
= )579'?57/ ~ ?0

oldlilnicu vill udll ISC
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19. It is assumed th i
at the i
e 12 mintll:;z c[;lstomers s;?end in a record store is uniformly distributed
el e . Based on this information, what is the probability that a
pend more than 9 minutes in the record store?

©, >
g o)z 7
| 7
= L Ip) /7) p= T O'ZS
#( 3

to an emergency 91 |-call center is exponentially distributed with
ion, what is the

IIs of 645 seconds. Based on this informati
00 seconds?

2(). The time between calls
the next two calls is between 200 and 4

a mean time between ca
probability that the time between

a. Approximately 0.47

(o) About 0.196 />(Z,ac> s x L 4ad

c. About 0.747

d. About 0.801 » ;/ [ L L/@@) —-——/3()(‘ _ 209

e. Appro.\'imutcly

/400 _ '»7/"°é,\,/
/- E s _[1- € 1’]

/o,{}a')- ~ 0" /0/
- € + € _ g+ /P

— L [75¢

-
—

\
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